Yo KRG HE
O *RmAKE

QI=C-T-A Q1 : ®RMI/KE (m3/hr)
C: iR 1 : FEMME (n/hr) A R EE (m2)

« XA A=200. 00m2

- PRHEREL C=0.9

- BERYIREE 1=75. Omm/hr=0. 075m/hr

KRR KE Q1=0. 9 X 0. 075X 200. 00=13. 500m3/hr

© FMZKIZFE 6
- HEOFIEKRE  HIF Ko=0. 015cm/sec=0. 54m/hr
- HREEMREL C=0. 81

S 2 D1000 X H1500 (A% N=2)
- iR Kf=al 2+bH+c=1.4200X 1. 500 2+7. 0800 X 1. 500+ 2. 382=16. 197m2
a=0. 475D+0. 945=0. 475X 1. 000+ 0. 945=1. 4200
b=6. 07D+1. 01=6. 070 X 1. 000+ 1. 01=7. 0800
c=2.570D-0. 188=2. 570 X 1. 000—0. 188=2. 3820

AR BB Qf=Ko-Kf=0. 54 X 16. 197=8. 746m3/hr/{H
- REHEB R Q=C-Qf=0.81 X8. 746=7. 085m3/hr/{#
12 1% & Fc=Q-N=7.085X2=14. 169m3/hr

Wi HE XFe=14. 169m3/hr
Q1=13.500m3/hr < XFc=14.169m3/hr o 0.K




